Review match against Saarbrücken Nov 04. 2007 


We had a lot of bad luck (opponents bold bidding showed profit), there were some difficult defense hands (which are not clearcut to decide), BUT there were mistakes in declarer play, which should not happen.

# 1. Bidding should be 1NT 2H 2S 2N ?
Now East has minimum HCP but 5-carder and 3 Aces. Difficult hand to decide.
The final pass is not to criticize. Bad luck that the game was on (against the odds)

# 2. Opponents gambled a terrible contract, which is not to lose, as the cards lie.
Diamon Q to trick 2 was a reasonable move, though the 10 had turned out better. (West is very short in entries.) After D10 DA in trick 2, declarer is home, if he takes the club finesse at once, if he tries spde Q, East takes the A, cashes 2 diamonds, and gives dummy the lead with a spade and waits score club K.
The other table played the normal 2H. The 3C-contract is difficult to for NS after the 1C opening (btw. Was this opening alerted as can be only 2 cards?)
Such desasters happen even in the Bermuda-Bowl. You cannot find the best defnse always and opponents maybe very lucky with bold bidding to terrible contracts. This 3NT has about 10%.
But it was a psychological shock.
# 3. This time we had the luck. This contract is much better than #2. But we gained the first 5 IMPs and I hoped this were the turnover.

# 4. Now we try an ambitious 3NT, but every card is wrong. The defense slipped. East must take club Q with the K and give partner 4 spade tricks, then the contract probably will be -2.
At the other table declarer was lucky in 3spades. Some interesting moves in the play.
Guess declarer should not draw a single round of trumps, but play club to K earlier (North must have the A - that shows bidding and play - why continues he the diamond?)
# 5. Defensive slip made, that Mihailo could score 4H, while Andrea and Zoran defended 3NT.
Well judged lead!! If South leads a spade, declarer is home.
Now we were back in the match trailing only be 6 IMPs. 

# 6. Push-board

# 7. Defensive slip costed 2 overtricks and 2 IMPs.
East should not continue spade. There is no future in the suit, looking at q9x in dummy and knowing the suit is distributed 4441.
West must take spade A in trick 2. there is no point to hold up with this dummy.
East has nothing to hold except Jxx in heart, why discard a heart? But that didn't matter West was caught in a triple squeeze.. The spade return at trick 2 gave declarer 2 additional tricks.
# 8. Normal 4S-contract and bad declarer slip. Never jeopardize a game for a possible overtrick.
There were the same 4-card-endposition at both tables. Our defender made it easy for declarer by signalling the Jx doubleton. The J cannot be right in this situation. You know all the cards. 
declarer has 3 diamonds and a trump left. If partner holds AQx in diamond you must hope, he ascores the Q and plays low for declarer to guess.
There is no situation, where the J can gain a trick.

# 9. Generally: Vulnerable in team with a partner, who cannot open, the West hand is not worth a bid. 
Opponents have no fit, why do you think, you have one. 
Your heart suit is lousy. It is only playable, because partner holds J10x
It is allowed to take a risk, if game is possible for you. But 800 against a partscore is a crime.
This time you were lucky to find partner with a fit, but he must go to 3-level and must go for 500.
Not to take spade Q was a misclick by declarer I guess.
# 10. Push board. But Mihailo should not try the heart finesse. After opponents ruffed twice, bang down the A of trumps. BTW. North bid 2diamonds and showed only AK of that suit, so it is very probably, that he has heart K.

Now in the half we were trailing by 33 IMPS due to the bad mistakes in #8 and #9

# 11. Very good defense against 1NT. Every card right but alas slip by South in the 4-card ending . You know that declarer has no more club, so give him the lead in spade and let partner another heart trick. It is only 100 instead of 50, but brings 2 IMPs
And declarer in 1club should better ruff a spade after the spade J. 
Btw. Spade K seems a  mistake by opponents. But every suit is bad. Hearts costs a trick, diamoand in the triple void too and trumps ditto.
# 12. We played the better 4H contract and their declarer played bad. After the friendly lead, he had to take the spade finesse first (4S+3H+1D+2C=10 tricks or more)before testing the hearts and then would make 6 or even 7.

# 13. I don't criticize not to bid 3H. A free bid of 2H is enough and if partner cannot compete, let them play 3D. (compare my remarks to #9)
But South should take spade A and prevent the overtrick against 3H.
# 14. Good defense by Mihailo and Karl, but in the other room our declarer had the cahnce to win by dummy reversal:
After he ruffed the diamond A, go to heart J, ruff another diamond high and draw trumps. You'll score 
4S (in dummy), 4H and 2 D-ruffs.
No need to hope for a good distribution in clubs.
# 15. Agressive bidding at both tables brought a part-score swing for us.
I have no idea, why the West opponent didn't balance over 1H.
Gifted with 7 IMPs

# 16. Good sac at both tables. You have to lose 2H 1D and 2C for -3
Our declarer mismanaged the clubs and lost 3 club tricks.

# 17. Opponents were very unlucky. 3H is the better contract than 3C, but herats are 4/1 and clubs 3/3.
North should double 1S to show 3-card heart suit instead of bidding 2C.
Get used with this RESPONSIVE DOUBLE:

# 18. After 1S p 1NT X West had the great chance for XX and a substantial profit.
Don't give away such opportunities. Partner will happy X 2H and then opps or at the 3-level with a 4-3 fit. 500 at least
Btw. I had passed the 1S bid. Singleton in pds suit and only 4 HCP is a straight pass imho.
Opponent has a tough bid after 1NT, but X with only doubleton heart is incredible.
# 19. Overtrick costs 1 IMP, but difficult to discard perfect. Uninteresting hand.
# 20. Opponents bid another overambitious game, which had no chance. Btw. East must return the 10 of spades not the 6.(Always the highest from 2 remaining). But didn't matter in this hand.
to the bidding at the other table:
-- I dislike the 1NT opening soooooooo much. 5422 is never 1NT-opener
-- I sympathize with Norths pass. NO reason to stretch with 7 HCP even holding a 5-card minor.
-- After the double EW or in great trouble. The 1NT opener MUST pass and let partner decide, what to to.2S is down 2 probably.

Finally we won the second half with 6 IMPs and lost only by 27 IMPs. 
But we could have done much better avoiding the declarer mistakes in #11 #14 #16
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